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QUESTION 1
Given:

class Cake {

int model;

String flavor;
Cake() {

model = 0;

flavor = "Unknown";
}

}

public class Test {
public static void main(String[] args) {

Cake ¢ = new Cake();

bakel(c);
System.out.printin(c.model + " " + c.flavor);
bake2(c);
System.out.printin(c.model + " " + c.flavor);

}

public static Cake bakel(Cake c) {

A. flavor = "Strawberry";

B. model = 1200; return c; } public static void bake2(Cake c) {
C. flavor = "Chocolate";

D. model = 1230; return; } } What is the result?

E. 0 unknown 0 unknown

T

. 1200 Strawberry 1200 Strawberry

G. 1200 Strawberry 1230 Chocolate

I

. Compilation fails

Correct Answer: C
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Explanation: 1200 Strawberry 1230 Chocolate

QUESTION 2

Given the code fragment:

public static void main(String[] args)

Short sl = 200;
Integer s2 = 400;
String s3 = (String)

}

Which two code fragments inserted at line 10 print ****?

class Student {
String name;

int age;

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: E

4 .public class Test {

D.

6. Student sl = new Student() ;
Ls Student s2 = new Student () ;
8. Student s3 = new Student() ;
9. sl = 83;

10. 83 = 82;

11. sl = 82;

12. )}

13.}
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(sl + s2);
Long s4 = (long) sl + s2;
System.out.println("Sum is " + s4);

{

//line nl
//line n2

public static void main(String[] args) ({
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QUESTION 3

Given:

public class Painting {

private String type;

public String getType() {

return type;

}

public void setType(String type) {
this.type = type;

}

public static void main(String[] args) {
Painting objl = new Painting();
Painting obj2 = new Painting();
objl.setType(null);
obj2.setType("Fresco");
System.out.print(objl.getType() + " : " + obj2.getType());
}

}

What is the result?

A. : Fresco

B. null : Fresco

C. Fresco : Fresco

D. A NullPointerException is thrown at runtime

Correct Answer: B

QUESTION 4

Given:
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public class Natural {
private int i;
void disp() {

while (i
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